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! = �1����−�2����

2����
	
��( 1
�1���+ 1

�2���)
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�� = �1���− 1 ×�1�����+ �2���− 1 ×�2�����
�1���+�2���− 2
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!"# =
(218 − 233.7)#+(303 − 233.7)#+(198 − 233.7)#+(296 − 233.7)#+(201 − 233.7)#+(186 − 233.7)#

6 − 1

= 13549
6 − 1 = 2709.8

!4# =
(209 − 185.3)#+(177 − 185.3)#+(167 − 185.3)#+(145 − 185.3)#+(161 − 185.3)#+(253 − 185.3)#

6 − 1

= 7763
6 − 1 = 1552.6
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2	
������� = 	1
��− 1 ×�1�����+ 	2
��− 1 ×�2�����
	1
��+	2
��− 2

= 6 − 1 ×2709.8 + 6 − 1 ×1552.6
6 + 6 − 2 = 2131.2

/ = 	1
���−	2
���

2	
�������( 1
	1
��+ 1

	2
��)

= 233.7 − 185.3

2131.2(16 +
1
6)
= 1.82 �
�4
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�S ���df ����V F�

� S(�) df(�)
(���-1)

V(�)
(=S(�)/df(�)) V(�)/V(�)

�	 S(�) df(�)
(����-���-1)

V(�)
(=S(�)/df(�))

�� S(�) df(�)
(����-1)
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218 209
303 177
198 167
296 145
201 161
186 253

���
 6 6 12
�� 233.7 185.3 209.5
�
�� 52.1 39.4 50.7
�	 2709.9 1552.7 2574.6
��� 13549.3 7763.3 28321
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�S ���df ����V F�

� S(�) df(�)
(���-1)

V(�)
(=S(�)/df(�)) V(�)/V(�)

�	 S(�) df(�)
(����-���-1)

V(�)
(=S(�)/df(�))

�� S(�) df(�)
(����-1)
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�� 

�S ���df ����V F�

� 7009 1 7009 3.29

�	 21312 10 2131.2

�� 28321 11
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